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Question 1. 1. Choice, Preferences, Utility: Exercise 4

Question 2. 1. Choice, Preferences, Utility: Exercise 6

Question 3. Let C be a choice function satisfying the following property P: for any A and
any partition of A, {A1, A2}, C(A)= C(C(A1)∪C(A2)).

(a) Interpret P . Find examples of choice procedures that fail P .

(b) Prove that if C satisfies HARP, then it satisfies P .

(c) True or false: If C is singleton-valued and satisfies P , then it satisfies Sen’s α. Prove it or
provide a counterexample.

(d) Find an example of C that satisfies P but fails HARP.
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